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Linac to S1 to FFA first pass with 4t order PTC, 10 slices
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Linac to S1 to FFA first pass with 1t order
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FFA first pass with 4t order PTC, 10 slices
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6. £, (m)
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R1 to Linac first pass with 4t order PTC, 10 slices
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R1 to Linac first pass with 1t order
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6. 8, (m)
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S2 to FFA second pass with 4% order PTC, 10 slices
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S2 to FFA second pass with 1t" order
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FFA the second pass with 4t order PTC, 10 slices
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FFA the second pass with 1t" order
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FFA to R2 the second pass with 4t order PTC, 10 slices

I, |...|||J|I'
2400 I — T | T | | T T |
— 8y
E 1600 .
Ty
u = —
< B0Op .
G'_ | I 1 | | l I !
156 154 158 1?2 176 140
s(m
1-8 T j ] | T T ] =
E 1.2 \ N
. i
o i
. {lﬁ —
= B i
GI\_H_ | _,_M\_ | 1
i ] I I | | I i — |

1584 1602 164 176 S 180

i HHHH LI G



FFA to R2 the second pass with 1th order
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S2 to FFA the third pass with 4% order PTC, 10 slices
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S2 to FFA the third pass with 1" order
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